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1. Which of the following reflects the modern view concerning the importance of expectations and the impact
of expansionary macropolicy on output and unemployment?
a. When inflation is less than anticipated, unemployment will fall below its natural rate.
b.  When the inflation rate is steady (when it is neither rising nor falling) the actual rate of
unemployment will equal the economy's natural rate of unemployment.

c. Demand stimulus policies will permanently reduce the rate of unemployment.
d. Al of the above are true.

e. None of the above,

2. If a shift to a more expansionary monetary policy leads to an unanticipated acceleration in inflation,
actual unemployment will decline in the short run.

the natural rate of unemployment will decline.

the real interest rate will rise in the short run.

the nominal interest rate will fall in the long run.

none of the above.

P e TP

3. Which of the following is true?

a. When a dynamic labor market is operating efﬁcxently, mostly cyclical unemployment will
be present.

b. Some unemployment will be present even'when &'dynamic labor market is operating
efficiently. [

c.  When full employment is present the rate of unemployment will be zero.

d.  When full employment is present there will not be any fiictional unemployment,

e.

When full employment is present it will be\impossible to sustain the current rate of output
in the future.

4. During a recession,

a. the rate of unemployment will generally fall and the employment/population ratio will
generally increase.

b. the rate of unemployment will generally rise and the employment/population ratio wilt
generally fall.

c. both the rate of unemployment and the employment/population ratio will generally
decline.

d.

both the rate of unemployment and the employment/population ratio will generally rise.
e. mnone of the above,

5. Suppose long-run equilibrium is present and the government budget is in balance. If policy makers do not
alter either tax rates or expenditure programs,

the budget will probably remain in balance even if the economy falls into a recession.

a budget deficit will probably occur if the economy falls into a recession.

2 budget surplus will probably oceur if the economy falls into a recession.

aggregate demand will decline next year and the economy will fall into a recession.
none of the above,
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6. "A reduction in marginal tax rates will increase the incentive of individuals to (1) save and invest and (2)
apply their productive energy in a manner that yields taxable income, while (3) reducing the incentive of
individuals to engage in inefficient and wasteful tax-avoidance (sheltering) activities.” Which of the
following groups would most likely stress the importance of these factors?

Keynesian economists.

supply-side economists.

new classical economists.

proponents of the crowding out effect.

none of the above.
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7. When individuals shift funds from money market mutual funds to no-load stock and bond mutual funds,
the growth rate of M1 will decline but the growth of M2 will be unaffected.

the growth rate of M2 will decline but the growth of M1 will be unaffected.

the growth rate of both M1 and M2 will decline.

the growth rate of both M1 and M2 will increase. 5’_‘ ;;"5% ﬁ
none of the above.
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8. Persistently expansionary monetary policy that stimulates aggregate demand and leads to inflation will
lead to higher rates of real output in the long run. ’

fail to increase real output once decision makers fully anticipate the inflation.

lead to lower nominal interest rates once decision makers fully anticipate the inflation.

permanently reduce the rate of unemployment below its natural rate,
none of the above.

PR OER

9. When the Federal Reserve increases the money supply by buying Treasury securities, it will
decrease short-term interest rates to a greater degree than long-term interest rates.

decrease long-term interest rates to a greater degree than short-term interest rates,

increase short-term interest rates o a greater degree than long-term interest rates,

increase long-term interest rates to a greater degree than short-term interest rates.
none of the above,
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10.Which of the following is an argument against a meonetary rule (money supply growth at a constant annual
rate such as 4 percent)?

3. Since the lag between when a monetary policy is instituted and when it takes effect is .
unpredictable, changes in monetary policy are difficult to time.

b. The inability to forecast the econamy takes it difficult to properly time changes in
monetary policy.

¢ Asaresult of innovative changes that atter the nature of money, monetary growth ata
constant rate may fail to exert a stabilizing effect on the €conomy.

d.

Since the index of leading indicators has sometimes provided conflicting information on
the economy, it would be difficult to institute a monetary rule.
e. none of the above,

11.Most economists agree that

a. fiscal policy is a more potent macropolicy too! tHan maonetary policy.

b.  demand stimulus cannot reduce the uneraplgyment rate below the natural level at least not
for long.

¢. monetary policy should be focused on reducifig unemployment:

discretionary macropolicy could easily be instiftted in 2 manner that would stabilize the
economy.

€. none of the above.

12.The political popularity of a tariff on imported goods that compete with products of a well-established
domestic industry is

a. surprising since one would expect the political power of consumers to override the
interests of even a well-established domestic industry.

b, surprising since one would expect the economic harm resulting from tariffs fo be well
understood by voters. :

¢. not surprising since such a tariff would generally benefit an easily recognized interest
group at the expense of uninformed, uninterested consumers.

d. not surprising since the tariff enables domestic producers and consumers to gain at the
expense of foreigners.

e. none of the above.

13. According to the law of comparative advantage, a nation will benefit from international trads when it

& imports more than it exports.

b. exports more than it imports.

¢. imports goods for which it is a high opportunity-cost producer, while exporting goods for
which it is a low opportunity-cost producer.

d. exports goods for which i is a high opportunity-cost producer, while importing those
goods for which it is a low opportunity-cost producer.

e. none of the above.

14. A nation's trade deficit will tend to expand when its
economy is expanding,

economy is shrinking.

investment environment is less attractive to foreigners.

b and ¢ of the above. #%';k -ﬁ\

none of the above.
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15.An appremanon in the value of the U.S. dollar would

[N

encourage foreigners to make more investments in the United States.
encourage U.S. consumers to purchase more foreign-produced goods,
increase the number of dollars that could be purchased with the euro.
discourage U.S. consumers from traveling abroad.

none of the above.

16. Which of the following are depository institutions?

paeos

Commercial banks.

Credit unions.

Savings and loan associations,
Mutual savings banks.

All of the above.

[7.All else constant, a rise in market interest rates leads to

o An g

& rise in excess reserves and a rise in the money supply.

a rise in discount borrowing and = rise in the money supply.
a fall in excess reserves and a fall in the money supply.

a fall in discount borrowing and arise in the money supply.
none of the above.

18.Tying the discount rate to a market interestrate would téndto

a.

b
C
di-
€.

increase instability in reserves and the monetary base!

increase instability in the nonborrowed.base.
reduce instability in the nonborrowed base:

-reduce instability in reserves and the monstary base,
none of the ahove.

19.The reason that economists are so interested-inithe stability of velocity is because if the demand for money
is not stable, then steady growth of the mongy, supply is

o po op

going to promote price stability at the expense of low unemployment.
going to promote low unemployment at the expense of price stability.
an ineffective way to conduct monetary policy.

can still be use to conduct monetary policy if the goal is price stability.
nene of the above.

20.An increase in planned investment spending causes aggregate output to

o pr o

increase by an amount equal to the change in investment spending.
increase by an amount less than the change in investment spending.
increase by an amount greater than the change in investment spending.
decrease by an amount less than the change in investment spending,
none of the above.

21.Other things being equal, an increase in government spending will

eAp o

shift the aggregate demand curve to the right,

shift the aggregate demand curve to the left.

move the economy down a fixed aggregate demand curve.
move the economy up a fixed agpregate demand curve.
none of the above.

22.Tobin's q is defined as

o Ao o

the market value of firms divided by the replacement cost of capital.
the market vatue of firms less the replacement cost of capital.

the replacement cost of capitat divided by the new cost of capital.
the replacement cost of capital divided by the market value of firms.
none of the above.
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23.The time it takes for policymakers to change policy instruments once they have decided on the direction of a
new policy is called the

implementation lag.
cffectiveness lag.
legislative lag.
distributed lag.
director's lag.
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24.You observe that both short-term and long-term interest rates rise after an announcement by the Federal
Reserve that the economy appears to be growing rapidly. You might speculate that
a. market participants expect a surge in inflation in the next few months.
b.  the theory of efficient capital markets has been refuted.

¢. market participants do not expect the Fed to increase the money supply more rapidly to
stimulate the economy.

d. both a and ¢ of the above are true.
€. none of the above,

25.1n the new Keynesian model, an unanticipated increase in the money supply causes

a. the aggregate demand curve to shift to the right along a stationary aggregate supply curve.

b. both the aggregate demand and supply curves to shift simultanecusky to the right.

¢. the aggregate derand curve to shift to the right asthe aggregate supply curve
simultaneously shifts to the lefi.

d. both the aggregate demand and supply curvesto-shift simultaneously to the left.
¢. none of the above.
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